DL=205. 00

AR M X

NO. 1

S=1:100

BIiEmE

&

i

1000

S

1000, 1150 500

BIiEE
EEL—+

6METFES

3 om X s=1:250

HEHKERAREIE L=27m (NO.0-2.2~N0. 1+4.5)

T I #EH(TEAEREUIREIRE) V=1123m3, BXAELT V=089m3. BIEMEIRE (BF - £F) A=125m2

KERT #EES A UFEBIO00xXH1000 L=25.6m, Xif - BATFT/KER - MEE2 29 ) — MTER  V=17.6m3
7 hUEE L=12.0m, BEERHEIKE 6200 L=28. 6m
REEXT IEAERMAE A=183.0m2. {3 L /K& ¢ 500 x 25

L=50.0m, K¥+tmD>5 N=2%

225.72 O

1500 500

ELTTIL

Kiga >y )— bk t=10cm

(BEEAH)

HB#EA t=10cm  Rc-40

1000

\‘bQQ
%

]

N A

BlERARUFE
B1000 x H1000

1000

N

HEBPAE t=10cm Rc-40

ERT T

(i”#J:#[IMIJ)

BT (BRERL)

43—
95y v—5> $40 M
\OfT——
RREAS

EEHKE

¢ 200

Wt LBALE#E t=10mm

989m3

BAEL V
BIEEERZE (BHF -

MEHDHTZE V) FREEKEBRRIE L

v )

,b"

e

L IEIRIN

iy

1ol

_—
= (9}
o &
i o
= 11
>
=
({=]
#o |
2= eN]
L
o £l
o
;S i
BT T
om X -+
WS |
ES =
@ o
A
-
_E'E
K
=
o
N

7 kg
&50cm L

=
=1

j

BEEHEKE ¢200 L[=28.6m

5
m
&
IPNO IP1
I A 13-06-28

i
- n
S b
i # Nl
AR
5
=
il
s
s
o
o
=
1=
.
BOPEESYFE
% 15 % Ergp
MERX % ®AES 2 B O|REEE 20 km/h
F iy SH6EE BIEE B A
: m No. S
R memwam O T &\ T
B Ie WRR RE 5 eSS
# R| 1.2 |mEE wit




GMMEILEIE

it 1 @

y

MEAHDIT

SV=1:100
SH=1:100

T F IRt

iy

IKEERARRR T

1ol

230.00
] Lo
<
_ - E
N =
| =
o
] = A0z
= " . %
i TEMKEERARMERIE L[=27m (NO. 0-2. 2~N0. 1+4.5)
)
T I EE(TEAERRUERLT) V=1123m3. AL V=989m3. B ZmEZE (BF - £F) A=125m2
KBTI HERAR UFEBIO0xHI000 L=25.6m, Xif - ZATFTKES - G392 ) — bTER V=17.6m3 HREHDHTEED FIRIE
— 7 hUEE L=12.0m, BEEHEKE $200 L=28.6m
] RERT I EFRERMDAEL A=183.0m2, {R¥ELKEE H500x25] L[=50.0m. RE+DS5 N=2&
220.00 9 1) — MGFTITKER
=) — MGFT$T
| HIERIATI UFE B1000xH1000 L=25.6m ‘ B1000~1500-H1000 L=1.0m
-
| #@B15cm= &50cm  L=12. 0m
] L5 =1534 KB
7Kﬁ%§%§%:2539 7K?t%-ii(SO-/ | He213.242
210.00
T.3-4
— H=205. 823
1:100 o
DL=200. 00
&=
ey
o o o o (=] o
H S = 2 = S S
’c’éﬁ ~ - o o s ©
.H
[
4 3 3 3 2 2 S S
k) — ™» ™ re) ~ ~ o
i g = = = = o o
rl?EH( N N N N N N N
R 8 S S S 3 S S
N, - (ap) (9p) [{e] ~ ~ Lo
@ s & S = S i ¥
E’E“KI N N N N N N N
g o S 2 3 © = S 23
24 < Lo Lo © © ~ ~ o<
2 g g g S g 8 S S e
) N
- B
T T T T T T T T J" 0) *) Tf :E I'b ? ﬁi
2 3 8 8 3 g 02 8 38 %8 % E -
o] ~ o [ee) -~ <t © (=] < <t
E | — — — N NN
an
- 3 E 3 3 3 3 3 23 .
i ~ e e o3 ~ N o <o HERX S mARS 2 R |HREHEE 20 km/h
b
e ~ S o = S . < £ S FI64EFE 6T E 1k B B W
= s - g s s =) . No. O i
= 2 S =) S 2 : o W
S e 5 fit ¥ & X 9 Eg 2 EF N0 144.5 *T
B . ZB BT e
ﬁ BT #h| FBE y:: 7] ) § FEH RN
# R B0 wmas BitE




iy

MEIEIST MEADOOIEZEVFiREHI/KBRAHRL

1ol

NO. O
GH=205. 18
Fhi=
i
NO. 0+11. 9B :
NO. O NO.0+2.0 GH=206. 40
I - " - Fi=
B ot - B ot 2.9
K 1 - K iE -
# B - # R - TEFTREEICKYEE
1200 |, 1150 , 1200 RPs. 0 RIEEEY £ - BrEEmER £ 0.4 1355 _ 1150 500, 1500
1000 ' BIEEER A - HIEEER A 0.4 1000
o0y T
BEMTITERRHL
v206. 180
o v212. 615
= I
DL=205. 00 SRR . ] SRR
S RIEHASEAE
© - B1200-1 2000-H500 N=4 ?
RESHSEAE |
B1200-L2000-H500 N=2 ]
2000 i Hl -
Bt 30. 8
K 1 -
# R -
BrEEEY E -
RTEZEEE A -
NO. 0+8.0
GH=206. 05 =
FH= DL= 500
_EER - —
TEF ERMmEmIcKYETLE
RP9. 0
LP7.5 211.872
11.553 1000, 1150 500 1500 500 ~ -
T
£ Al -
Bt 24.0 RP10.0
K & - 219. 558
# R -
BRrEEEY K 2.1
BIEEER A 3.7 NO. 0+16. 1
GH=207. 04
Fh=
DL=205. 00
EEHEKE 6200
i A (F ) )
7432 —#  A=0.9m2 TEIFTREICKEYETLE
H LRSERF 10 L=2. 4m 1000, 1000 , 1150 500, 1500 500

1000 ‘ ‘

V211.750
5. 0%
T 5 @l LA
—_—— Al - #El -
NO. 0+11.9 B ot 33.0 B T 47.5
GH=206. 39 K 1R - K 1 -
Fh= # R - B R -
BrEZmER £ 0.0 BrEzmBY £ 7.1
BrEZ@ER A 0.0 BrEimBWY A 2.4

TERFERMEIZKY

RP13.0 :
214. 348 . ‘

1150 500 1500 500

1000 | Ry,
T4 ILEZ—%  A=0.9m2
330 DL=205. 00 R LRIER £10 L=2.3m
| ] -
2 Bt 40. 2
| 5 B -
| £ R -
BIAEEW & 0.9
| BLEEEW A 1.5 pram
HDHEZEDFHR
i g JE
0/
T4 E—% A=1.1m2 HERX S 2 R (\REHERERE 20 km/h
J— X 5 | X 4 3 E E ;
DL=205. 00 W LS IEAF 110 L=3. 2m E X 5 % 51 X ) k| ETE m/
;3 E3 FHCEE I ER oA m
] _ e No. 0 N5
I T i B 9OXHP 3 F o 04161 =T
. . B BT o mms
e T #h| FRE 78 ) # FEH A
wm R 1:100 BEA REtE




iy

1ol

MEIEIST MEADOOIEEYFiREHI/KEBRAHRL

RP9.0
219. 850

NO. 1

GH=207. 32
FH=

11000, 1000 . 1150 500 1500 500
1000 ‘

N

Vv213. 700
e

&l -
®ox 64.7
K 1 -
# R -
BIZEER £ 6.9
RTEEEM A 2.7

ud ’J\\\I\\/
T4 I)LE2—%  A=0.8m2
DL=205. 00 W LESIEA t10 L=2.3m
NO. 1+4. 5
GH=208. 49

FH=

RP6. 0
220. 548

525 1000, 2100 1000
300 1500 300

avoy—rm| [ | [ |
\ Ry Zh)L—+ /
\ V25500, " 31500 x H1500
=== o
- EN
o
g |, V214,500 T it B L
Al - Al -
. :./,,.,_,\/ﬁ—J?‘MO B ot 3.1 Bt M.1
K - K -
2 R - £ R -
BTAEEY & 4.5 BTEEEY £ 4.5
BTAEEY A 0.0 BIEEER A 0.0

DL=205. 00

8

HODEESF
#% 18 & ¥ %%
ME R 5 ®ARS 2 Kk |FREEE| 20 km/h
5 & SH6EE W f B

No. -

£ W BMEEE 9 ER 4 B s 22
B Ie WRR RE 5 e TS
# R| 1:10 |BEE Rt




BIERAR UFBERER

2000 1150

2500

v 3= 1000 |, 1000 500

1500 500

EL7ZUOIL

5. 0%

N\

1
(=]
(=
o

BlEER AR UFE
B1000 x H1000

S=1:100

AR

XKimary)—Fk t=10cm
HBPRA t=10cm Rc-40

N

00 ‘ E&H7 7L (GREHE)

Kiga o )— bk t=10cm

HEATFT B KEREEMB  s=1:100
e 1000 2100 1000 —
300 1500 300
BEERAR w2 XA ILN— K
B1500-H1500
5. 0% 5.0h
> —
N 8 [N IvyU—FETHTHKE
AL 1000~ 1500-H1000-W300

B
o
S
S
e

EBPAE t=10cm Rc-40

L__"_Aq\\\
ey — _ ] 4
HE#HA t=10cm Rc-40 300 1840 300 st L H 1 — R

,S\t/ut)\j

CMEIHEIS MEADDOIEZED FEREMKIERRKREL

it T 73 [] b7 18 (X

S=1:100

LR
GH=206. 76
i 228 — MBFHT S KE
B1000~ 1500 x H1000
BiisEA T USFE (U-1000) L=9.824m L=1. 00m
8939
1525 7414 /

309 1216

NO. 1

DL=205. 00 N
Lo
S < -
= T <
— o -
S s S
2 = =
TR AR
~ £t = GH=206. 76
SEAEFMRE  s=1:100 Fi-
BIERARUFE
B1000 x H1000 1200 . 1150 1200
1000
Erf gy BIISSA R UFiE (U-1000)  L=15. 773m
14578
(=)
3 2154 9900 2524
2 I - | 2216 308
2 SEIED S EAE
B1200-L2000-H500 N=4 .
RE®H 5 & AS 253
B1200-1 2000-H500 N=2 2000 10 500 63031
P _//’ﬂgw
Go.0h)
Q
AAQ V
= ‘ —
N /
N /
E#Y73° TR
/ L=770 x 620 x 630
AFIEKFEESMN BB TRE200 T)LR (28ER)
/ ol L:1599;77Q/J
==
= _ — - ===
DL=205. 00 S < == — SEHKE  $200
' B} — XHREF— X
&
ErZE21° TLR
PRELS 50 & A 1200 | 1200 | (=540 x 540 ®
" B1200-1.2000-H500 N=2 o > <
~ o o5 ha T
I . £ T o
S ELEDHSEAE S S & o
S B1200-L2000-H500 N=4 g S 2
(=18

1000

EEHEKE 6200

o
<
+
=
(=
=

SRR v & A TR
oo sy —

NO. 1+7.5

Z CHERT

MaEavo)—+

L:=§- BIEREAR UFEFEHEEK S=Free
1IE m  m
3 ~ > _t'!:: _}7s “)l/
1150 EBLTZUOL He g - / RiEsR T Y
1000/ H H
[~ /
8 ES7 4L GEEIE) —
~ L // Fn A"
O
| 1900 | H H
8 ™
AS —
FnAR
BT
| 2000 (HHHE) |
2300 (&E)
BOX 1500%1500 L=25. 1m
5.3%
EHI LR (46° £602590°)
¥ E M
&ec
TNAMR : g -
—=>
0 ®) ¥
ﬂﬂ[- . N
L1
RE*FRE L=L1xL2xL3
ERTILR
{8 m
FnAR
é )
% N
/Al
REHRT L=L1xL2
TRIILR
{8 m
FnAR
?> L1
&
>
REHRT L=L1xL2
Wl
HADHTEEDFIEF
iz F X4
MERX % BARS 2 B O|RETEE 20 km/h
=3 i3 ST6EE HEIEAE y:: TR
it Wy 75 e b X No. "
BN kiR ™ *T
- . 2B i) R,
T #h e y:: B2 @ * FEE I
i@ R 1:100 BEE REHE




ETHIS WEAODEE Y FREIMKEARRRTSE
6FKE T Mg “EDTFE KR I=
~ Frpe
SNE AEE $=1:50
TE
iz yaxa .
EE2HEKE  s=1:50 HIEs AT U
X
T4 ILE—%
700 D590 =52 ¢40 1200 1200
L 2 3 .
L IERHKE 6200 N0.052.0 o o
SE B R LBAIER t=10mm ‘ o | |
e w\ VIR UBEMIETERT : MGKRICEYVEBRELBET S & I o o I e A
P N =8
B1200-L2000-H500 N=4
400 S ‘ /V
N ‘ /’
NO. 0 | | - | |
" 5 | ] s
~ kY t —
Xy ) — FERE 91— MEFRITHKEE s=1: 2 ' |
13 a9l Fi¥T B7 $=1:50 = | |
), W ‘ o
FEE IEEX /“ | S
AN
' & LRSLE#F t=10mm | '\
A-A I
2100 o -
@&)/S\&/U S,
300 1500 300 2100 B1200—L2000—|:E00 N=2 1E|JE
o e . 775 2000 775
IRl | AT
e g M 300, 1500 300
=
BEERAR Y 2 A AN — b+ = g
B1500-H1500 1E E = ,13
’ o
la ] RIS AT USiE
il i B1000 x H1000 2500
§ = 1200 1150 1200
b — 53 ﬂ § S 500 | 500 2000
e SEIE8D 5 & ASE
— B1200-1.2000-H500 N=4
s [
BIER AT Ui | = o T I | o I |
$ B1000 x H1000 ~ 3 — S o
| . 1l | L A Ll |
2300 R o - n o < I
f 1 [« o
e I ERN! o af ] © | _H__//HZ
SIS AT U
300 1000 300 S 300 /—B\l I I I\ﬂ_ 1300) S 1 : | \'\ 000 xri1000
1600 ‘ L S— ._HJ I — ‘lj
ol 1600 KBS 5 & A ‘
BRI AR UFE B1200-L2000-H500 N=2 300‘ v 2000 v 300 ‘ ‘ v ‘
1000 SRS 5 % e b 300, 1000 300 B1000 > H1000 2600 300 1200 | 1200|300 \IRHLBib#F t=10m
B1500-H1500 3000
L LD 5 & A BRED 5 & AFE L1300
8 RIE  1.5m2 RIE  1.3m2
S 8 BEL 0.7m2 ®EL 0.3m2
8 =
o [s2)
g = s | \ S
- 5.0% 220
=3 op 1800 W =
S N E =+ > — .
= /// | | REaT'— bk s=1:50
S /o AT
B #4t L=2. 30m I — 2 (Z <NhEFD
B1000 x H1000
. T I
B] &0 4 - E—— _—
Ximaro)— bk (HEAED
BE| EDn| 5 n| EEE m2 _ L
12 5 61 1.00 5 610 Fa'ﬁD‘é‘M‘E‘. 2500 ‘ Eﬂc‘ﬁ' 2300 T‘
13 561 0.50 2.805
14 574 1.75] 10 045
15 550  0.50 2.750
16 550  0.50 2.750 o
17| 5.7 171 9.867 3
18 57711 1.7 9.867 _ 1
19 5.50|  0.50 2.750 3 =x M )] — —1- B O &R 4R
20 5.50  0.50] 2 750 FEﬂ Ao — 7 ) b s=1:50 1 GRS e
- - - A=1.52m2
21 | 262 0.49  1.284 (BEERR vy 2 XA TER) R o> —t
22 2.62]  0.46 1.205
23 3.64 1.57 5.715 IEmE X
' ' ' B m (]
24 3.64 1.27 4.623 5 A X% - WIRIIBBIETH D,
25 3.37 0.49 1.651 Kigaro)—k (EEf) 2100
2 337 0.47 1.584 S| Edn| &5 n| EEfE m2
27 1.33)  0.50 0. 665 1 .11 1.00p  11.110 1840
28 1.271] 039 0. 495 2 .11 1.00p  11.110 1500 BEER AR w2 R A IL/A— b
29 2.63] 091 2393 3 2.56| 0.90 2304 T T SRy 5 Z s B1500-H1500
30 263  1.72 4.524 4 2.3 0.20 0.476 E%BE‘)IMS’JO? JLIR— |
31 2.73]  0.46]  1.256 5 2.38| 0.52 1.238 - A .
32 | 273 050  1.365 6 1.16) 0.88)  1.021 225 ) — MEFRITE KEE *ﬁ)&*@”ﬁ&%l S=1:50
33 1.65 043 0.710 7 1.09]  0.40 0.436
34 165  0.48  0.792 8 8.33 099 8247 [ Rl o
35 | 282 100 2820 J 8.33 099 824 1000 HDbEEDY F &
36 | 2.8 1.38 3.8 10 1.621 064 1.037 ‘ ‘ B Hhkt ! B it IEATT 5 7K & B e 4 - ’ B2
38 2 38 0.49 1.166 E'E*ﬁﬁél m2 46. 245 ‘ "'/'—— — =0. om
39 8.20|  0.50 4.145 iR m2]  23.123 I ———————J R R 5 2400
40 8.29)  0.50 4.145 o ] - R X 4 GaEs 2 4 i 20 km/h
41 8.47]  1.76]  14.907 S = 300 1800 300 2= ’ 7 W% | eX & =
42 8.47 1.28 10 842 - HASE AR UFE / -
43 6. 06 0.50 3.030 B1000 x H1000 - - F 3 ASF6ERE WK # B
W m m :
. . . o [e] . NO. 75\6
46 3.09)  0.47 1.452 300 1840 300 ) 300 1720 S 8 £ 1 ¥ & 9 FEh 6 E o *c
47 3.09  0.40 1.236 2440 F'Eﬁsﬁil 1/696 ')2 —k 2020 )
48 1.63) 0.7 1.157 =1. bom . . B ] .
49 1.63]  0.64 1.043 M T ih HaR #£iA G *f FEH RN
EEEAE m2| 131481
LL LN #® R| 1:5%0 |BEH BEtE




CMEIEIE MEADOIEEDFHEEMKEBRARKRIE
REET - HEERETFEE s=1:250
REX THEER
TERAERIZEZER  s=1:100
%
L 4000
Be " 500 3000 500
g% TEMEBY AR \\/ 7

BEbF| t=10cm

225.72 O

=50. Om

RELKIET  s=1:100

500

]

RUIFLUE #T)0 (REFR) ¢500% 231

RELAKET RYUIFLUER TILP500x25] L

REFEETI T s=1:100

1100

]

o
% N ABEDS

WE

HDDOEEDFH
% % % % %4
ME R 53 BAES 2 \REEE| 20 km/h
£ E SO R £ @

fREE I FER No. NG
2 B Vhrimem Y FF T F £T
B Ie WRR RE 5 e T
# R| B |BEE Bt




i

MEIEIST MEADOOIEZEVFiREHI/KBRAHRL

1ol

‘ ey SV=1:100 _ e e SV=1:100
TEAER #HFmEBE sh-1:250 FRENE  ftETm X SH=1:250

fEHI (TEAMAER) V=541m3

Cw B
(=3 —Im
=1k &
230. 00 rlgé{H] %*ﬂ’[ 230. 00
oy
) :
] i _ TERER
o W=4.0(3.0)m
T.1 T
B H=226. 760 B H=226. 760
\
220.00 KBS L FERGERES TH D, 220. 00
210.00 210.00
] VCLE10 VCL=10 ]
o VCR=33 VCR=50 o
= =
1:250 o 1:250
DL=205. 00 DL=205. 00
B B
. 1=-25.00% E
ey gy
H H
£ i
. - g ¢ 32 82 : 5 "
= — — SIS —— o~ o =
o S — o oo o0 = oo
e 2 = 5 g 3 28 = g8 e
{2 Lo < o~ o~ oo ~r~ < ™™ &
e & & 8 & NN NN ~ NN =
= o~ ~ o oo oo o oo ~ o ~ —
{uﬁ ~ ~ Lo ™ o< ™ © © O {uﬁ ~ N ~ ™
2 Lo © < < N 0 0 ~ ™m ™ 2 Lo © © ™
R N N N N AN AN — — — R N N N N
2 N N N N NN NN IN NN 5 N N N N
o S S S s 23 s¢ S SS s S S S S
B o o © o oo oo o oS — ey o o o o
= — - N N& S 2 r) © © = — Y I32)
o o
o o > o o~ = < oo o o o o
R S S S S L) So© I3 SS R S S S S
m S = S o« sSo So o S~ ey S = = =
B B
. o o I —o ~— = -o . = - ~ P B *
HE S = 8 g &o S s S - I S S S S HDODOEEDFE
= 3 o % & = o = ¥4
g . . o
§ T % - %  ——
A-129.51-33
W L= 18.00 Rﬁ;ﬁoﬁoﬁ L= 20.34 "
= & HER 5 BUEH 2 K |REEE| 20 kn/h
I'lJ I'lJ i A i ﬁ 73
o e F £ SFI6EE MBI ER A3 m
irRE e N \ -
- - &  p CEACEGEER o ey g oz e
FRER L it mE X No ET
B I ]
= = o . B e
b 5T L FHEE i3 ) o FEH A
o #E 1 :100 zn =
ﬁ'ﬁﬁ R *ﬁ 1 250 EE% an-l-%




ETHEIS HEHODEED FHRENABARURTSE
6**L——§-c.'r 1B A+ DD ZTT 7 7 JLAC -
NO. 3
GH=223. 31
Fh=
NO. 3
B8 (TERER) 30.6
TERER R8Il (FEL) 3.3
PEEES
Ng%ﬁs. 5 232.5225
- 18 (2 L)
DL=220. 00 219. 750
1BHI (TEAEE)
TITERER
NO. 1+10. 000
NO. 2
GH=226. 77
Fh=
214 o) 4.31 (4. 00)
0.54  3.23(3.00)  0.55
. . 50)
RP5.
‘ NO. 2
S B8 (TBREH)] 329
fEE (FEL) 44.3
A Yt EmER
NO. 2+4.3 - -
""""" 7 4
o e 223. 746 NN
S B4 GRER L)
NO. 0+14. 017
BHI (T EAER)
%
S i A #E4) (REE)
4. 55 (4. 00) © .
DL=220. 00
o5 341600 051 .-
| .
| Y 10.0%
/o
>
Z 215.730 / NO. 1
s / 6H=226. 28
2L1P42. 18(?1 TERAER e s Fh=
Y4 (L) N0 26,0 HREERER 250,00
0.54 3.23(3.00) | 0.09
(0. (0. 50)
NO. 0+7. 0 NO. 1
R . 225.747 | FID A (TEAER)| 0.0 A (TZAER) 9.1
= = - = AS 4 (RmL) 0.0 | | A (G3lE) | 26.0
: 51 EER YT EEY
4 (T35 FAsE ) TR
S
o
10. 0%
DL=220. 00
B4 GRERT)
P )
S N
o 1.00 >
4.55 (4. 00)
0.57  3.41(3.00)
50
NO.O
GH=225. 72
Fh=
213. 296
TEAER BHI (TE RS NO. 0
NO. 2+17. 475 = 1EHl (TERER) 0.0
1EH GRERT) RP12.0 fEE (FEL) 0.0
225. 265 ¢ o
AS ﬂiﬁmﬁﬁ **E )
HADHEED FH
%R A E %4
MERX S ®AES 2 R O|HREEE 20 km/h
=3 i3 SH6EE I ERE y:: TR
DL=220. 00 _ y e No. )
LP12.0 - . EB ET . .
218.563 M I #h bS] = y::§22] @ *t FEE RN
m R 1:100 BEEE HEtE




